
lhYt -pt:ç .LS.Jl U

ÉI
19

| 6t-l oY1

[-Jl ô.tta,.i glJ .:ll':.:l:," 
;

;i3g ô-,,p.r ^,,,',,1;;1"'ill;,,,.'." 
i

+JSllJ q*,.-1'r

... t\lslil

i

lî.J"..lt1}i!

gLJ 4$.),

,;i *, d-,r,

+ *1È-lr
tirl,-,'_i ,i' -!jlJ

!^,rSïl

I : J.t*Jl | 6.rsl3 irt-, : jÇ I ôro I etr$:13 rl-r.j;ill ; 6r' ul

)r.ât 

-)9
,*râ.JFll tt!)l çÉ cjl.l*Jl Cl.y LJiiltl cs >Yl ;-Ë iJrFJrÉ_r &J.ill

6;ytl ,rJ" lrl.3el asJ:ll dÉJ
61J.l 4**jll.i Âs;si. i-EU _,1t* l.i*o

Lgir'., g 6JÉll ô!n o"S -:tC+ i.ô-,'-
o.-".,tt ,+,- isSt ir;.1 i.i_r-

ô0,5
ô0,5

0,5ù+0,5ù
0,5ô+0,5ô

Çrr+-r'l

iÉJ+l| - -ri^C
Â.eJ1r,,5. -

-"+ll - |

qJl- c
4-ILJ - ,

-t

gtii;Yl 3 illS.Jl r;,,,r J+'i: ùjJll Oi i.i-,-
dôJÉll Â.ll* 4p 6;rruJl i-ô>t .tt i-irr."

i*U'.lt: i,^tUt q;sjJ /r,,ll,.JÉl i.lLhlt Â.ij-"
Â-6r-LJl 3 4Jl+:{slt ô;.riiJl ..jrr3 i.i_.;-"

dij.ll ci$sll rtuJt _,pr aisu

u0.5
û0,5
ô0,5
ô0.s
ô0.5

iLi _ c

lrM-(
tÀÀ -

e+'vé '

-2

tr'
<;'

ôùrll U*_Le 6r:j 3 go Oj: i.i_r*
U+-r"-,, J WsJJ 4+qJsll ôJ$ll Â.àj,u

t t+._t J t{irrJJ Gt}r.ll iiy.
0.25x6=1.5 W .P

N-
- aiL resll 6J$

- i.J_*

-3

cJtY -+l

Â+gjls,Ft I ot;iij:Jl r;s
ô0,5

dr0,5+iJO,5

S f,+ll i*lr.l^
.t;J" cr.rTt$'E gt t; È,+tt ùj_l- r

acjn;r
4.JlJJl Jd{

.t

ô+ Cp -gtiJl3 s"t-.5,11 ;9:U 4r ',*'q:lt ô0,5

(r,ï cr" 66p,É,rtiFE:1.yu.ill;n +uJr -J# .2

p=mxg i,!)lrll dDii*lJ A.!Jr,.

ôilél .LJAji ,j*itljJ r.ôJÈ.

ô1..5
ùjtél.hJÉ (

f=P= lpyg= 0,5kg x10 N
Jn:6ra
/kg:: g 

1

3.

ej* lt-Cr*! 6_re1.F"i ô1 2cm 4rL ae*" i-U*t3 *i 4.

a-L*JÉJl 1o..pJl ot ,,r Crl V=d,r = 11.251O.5= 2.5m/s
5.

1.Jsl 9 trJl

.lt+ll ôr*i +l;r-al ç.,r1 çJ,a3* 6j+g .Jt ^t*1 ô0,5 l=0 2A .L

ç1* É)f:il ç+_li d-,r L:ti^ L+ 6tt1,s*i
4ijJs

ùL
R= (l L)/(0,2-O,Ll=' 1l/O,L= LO A .2 t.

4+U{sll i-6t}lt .-.,t .lA ô 1.s
E fXlXt = RX f'X t= L0 xO ,L6x2

=3.2wh

,3

jt{+l ,!.*yl }rtlqll ùlii*l
;;6)t Çr..rtstt 6_riùt ijJ$._

ô1 +lr,J+
J$l 4+

;J$ ile réé 4jy Ô')ittrÈ J+st i.Et-L,4!'"4.*;Il ç/tt
.t

tsl jt{êll. T

È
E

4-EXlt dyii.t
P= Uxl

-rtjll 5!,i,gt -t
j++t 4J-)t J,rLLll Â.ÀJs ô/ 6rr-itt

ù2

ô1

l1= PL

12 =P
l3=P3/

:1+ut
Pt=P

tUL = L2O/22O=0,545A :

/U2 = L2oo/22o=s.as A
J3=220o /220=Lo t\

l1+12+13= 0,54+5,45+10

= 15.9!)A> 15A
oJJLlt

+P2+ P3= l2'Q\i!a1200W+2200+3520W
l= 3520/220=15A> 15A

,',iJrt r.r*Ài ,.r qult tjhF)t é,,!Ll aJ

2-


